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Instructions for the Candidates

1. Write your roll number in the space provided on the top of this page.

2. This paper consists of fifty multiple-choice type of questions.

3. Atthe commencement of examination, the question booklet will
be given to you. In the first 5 minutes, you are requested to open
the booklet and compulsorily examine it as below :

(1) To have access to the Question Booklet, tear off the paper
seal on the edge of this cover page. Do not accept a booklet
without sticker-seal and do not accept an open booklet.
Tally the number of pages and number of questions in
the booklet with the information printed on the cove
page. Faulty booklets due to pages/questions missing ¢
duplicate or not in serial order or any other discrepanc
should be got replaced immediately by a correct bookle
from the invigilator within the period of 5 minute:
Afterwards, neither the Question Booklet will be replace
nor any extra time will be given.

After this verification is over, the Test Booklet Number

should be entered in the OMR Sheet and the OMR Sheet

Number should be entered on this Test Booklet.

4. Each item has four alternative responses marked (A), (B), (C)
and (D). You have to darken the oval as indicated below on the
correct response against each item.

Example : (A) @ O

where (C) is the correct response.

5. Your responses to the items are to be indicated in the OMR Sheet

kept inside the Paper I Booklet only. If you mark at any place

other than in the ovals in the Answer Sheet, it will not be evaluated.

Read instructions given inside carefully.

Rough Work is to be done in the end of this booklet.

8. If you write your name or put any mark on any part of the OMR
Answer Sheet, except for the space allotted for the relevant entries,
which may disclose your identity, you will render yourself liable
to disqualification.

9. You have to return the test question booklet and OMR Answer

Sheet to the invigilators at the end of the examination compulsorily

and must not carry it with you outside the Examination Hall.

Use only Blue/Black Ball point pen.

(ii)

(111)

N

10.

11. Use of any calculator or log table etc., is prohibited.

12.

There is no negative marks for incorrect answers.
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Note :  This paper contains Fifty (50) objective type questions, each question carries
two (2) marks. Attempt all the questions.

1. DT0ETON WID WS BYBNITOT WIF),N 1. The increase in the price of gold is not

23eR503R00R Fo20E TR0, FITEITWCRITT associated with the decrease in the
(A) eticn Ronmd R o7 cbmOBOY, demand for gold. The reason is
k (A) The law of demand does not apply
(B) @35 &pgd ou) 8T to gold
239
(C) 03008 e0% RNPTIBEEDSO, WFH BT (B) Supply of gold is more
303 AT (C) There is a free movement of gold in

the international market

(D) 33 FIT MO 200D YVTHIBOBOIPNG _
. (D) Gold is an example of Veblen Good

2. S0 el BT SRVT SRTOBE DFOROFHTO _ _
;_bgg e3362 SROILTE ﬁ@mw Zreomds= | 2+ 1he market structure in which many

sellers strive to complete and expand the
C'?
dncbﬁeﬁ rﬁzﬁﬁocbd) e::,«ﬁcc:b ﬁﬁ&i&)@ﬁ | market through product differentiation is
(A) ©BOROTDAR, W), WRTIFE, known as
(B) a;)ﬁmcdd%ﬁdl :.:"do@&“‘oﬁ mdaﬁa:i (A) Oligopoly market
(C) Tompeor G QB mdﬁ% (B) Monopolistic market
_ (C) Perfect competitive market
(D) 6”@%6 mﬁdoﬂ dmc'ba’e,gd

(D) Monopsony market

3. ‘DT, T ©T0T 2,08 FeFT0D LVITU NF' N |
SRIENTT 20T BedoDd RS (TBFR) 3. The VI‘SIOH statement that.says to be th?
BeoB030 CARTTY, BOLOTTUIRD. 2 world’s best quick service restaurant

relates to
(A) &@5&3‘ (A) Pi1zza Hut
(B) 25 B’

(B) Mc Donald
(C) Wirm® B (C) Orchid coffee
(D) 8% (D) Nestle
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4. The analysis that allows firms to clearly

understand the parts of its operations that
create value and those that do not is

known as

(A) Capability analysis
(B) SWOT analysis

(C) Value chain analysis

(D) Core competencies analysis

S. Drone Entrepreneurs are those

(A) Ready to adopt changes that come

from innovations

(B) Refuse to adopt opportunities in

spite of danger of incurring losses

(C) Sceptical in experimenting any

change with enterprise

(D) Who emerge as entrepreneurs with

in the confines of existing enterprise

6. Network application that connects
different systems within an organisation

are called

(A) Internets

(B) In organisation nets

(C) Intranets

(D) Infranets
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10.

. The calculated value of ‘t’ is 2.55 and

the table value of ‘t” is 2.88 then it
follows

(A) Null hypothesis 1s accepted
(B) Alternative hypothesis 1s accepted
(C) Null hypothesis is rejected

(D) It 1s impossible to have this resul*

. According to Engel’s law, as income

rises.

(A) The percentage spent on food rises

(B) The percentage spent on housing
Increases

(C) The percentage spent other

categories Increases

(D) The percentage spent on savings
remains constant

. Which one of the following is related to

external environmental analysis
(A) Mentoring

(B) Monitoring

(C) Managing

(D) Mapping

If a firm 1s allowed to share the risks and
the resources required to enter
international markets, it 1s following

(A) Licensing
(B) Acquisition
(C) Exporting

(D) Strategic alliances
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(A) 5.6 DPMO
(B) 3.4DPMO
(C) 2.9DPMO
(D) 203 c3nme &),

13. DOSRAYROE FOTLIF 0T

(A) WROTLTNY [T OB, NOTOERO
RO

(B) tomgcdaieds deiaseitnd woss Bomoba
Q0RO TP

(C) 2u0T303 303 23630536387 TOLTORDTODI)
QBRI ROTIIF NS

(D) w3:3838R8 TToR ROTdERS FoTr

11. Down scoping refers to

(A) Eliminating business that are

unrelated to firm’s core businesses

(B) Intentional reduction in the number
of employees and number of

operating units

(C) Buying all of a firm’s assets in order

to take the firm as private

(D) None of the above

12. For qualifying as six sigma company, it

cannot produce more than
(A) 5.6 DPMO

(B) 3.4 DPMO

(C) 2.9DPMO

(D) None of the above

13. Merge event means
(A) Event marking completion of activities

(B) Events representing joint completion

of more than one activity

(C) Events representing initiation of

more than one activity

(D) Event marking start of activities
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14. 35mTI00 FWo0ITY, ToF SRS w0 | 14. A partof MLLS. that operates at lower level

JmReos Wﬁmmﬁ@@ﬁﬁ@m*%d of management and that uses standard
ML.LS. S 20z gon o3npdd 2 operating procedures is
(A) BODFFOOING SNHS D3 (A) Operative information system
e
(B) Ba3ed % obow3d3 F=% (B) Office automation system

(C) Unorganised information system
(C) 295038338 It qsﬁ%

(D) Transaction processing system
(D) S3®>0 "ozg0m0= F3
15. The annual demand for a spare is 2500

15. 2500 w& Reso=nert oars Wedd ad D | units and the EOQ is 250 then the optimal

EOQ 250 0T on JeR30 533N Now number of orders is
2083 SNG. (A) 25

(A) 25 (B) 625

(B) 625 (C) 15

(C) 15

(D) None of the above
(D) S0eds canmyme oo
16. Ubiquitons material means

16. 3SF3 TN 0TTED ? (A) Material that is available at specified

(A) DOFE FHNTO o atss mEOATD s
(B) Material which contain universal
(B) ~=Fez IS, BRODTOT TN T
identity

(C) mzFgzemn OYNTOT TN

(D) =53 (tﬁ@a’) B9 g TRTC30D
SpIel|

(C) Material available universally

(D) Material available only in space

17. ‘aisle’ means
17. TEH 2030

(A) The space between working places

(A) 073 399 3OS won l (B) Planning for work flow
(B) 303 oo odnexss (C) The distance between two factory
units

(C) B&nFICH TR PLBNT SRS BT

(D) Production planning and control
technique

(D) sveBm o3pews 3 AoDeZe 303 l
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(A) mdraasen' odneRd, mcﬁf%eﬁ aieﬁﬁMQ
ITORORTT

(B) «vdnen ooFd, voidnen aqﬁeﬁﬁcﬁo@{
2023 OROBT

(C) mdr%en' C3ReS TR mcir%eﬁ DJORED I
DFORALCINNTOST

(D) Emzj‘mzsm’ C3ReBT  WIBY  YWTWR N
DILREODT), DTFOT, BRBOINOST

20. I3 B 85N 2007 000 FRDITIN

FUI A ROPDROD AOLPTRLODZOT) DF0T
85030233 9 |

(A) ©0233 RoymRectod

(B) =0ER (R,2o33um) Roydmrecddd
(C) %ot 0PSO

(D) 0,633 Rorgmecns |

21. X,0807Y DRCR 2000
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(A) AOTET  AIBRFINR  FPeX), TS
mdo'ameucfm QTR ajsa'%ﬁ

(B) ﬁ%oﬁ@"n’%ﬁi 503% SRTITON ROLRAT
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(C) 20 M, oTS NY SIS FFA
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need,
the customer wants to be seen by friends
as a savvy consumer.

(A) Real

(B) Unstated
(C) Delight
(D) Secret

18. When a customer has a(n)

19. Job design involves conscious effort to

organise tasks, duties and responsibilities
into a unit of work to achieve certain
objectives, then

(A) Job design follows job analysis

(B) Job description follows job analysis

(C) Job design and job analysis are
similar

(D) Job design and job analysis are
done simultaneously

20. The probability that an event A occurs
given that another event B has already
occurred 1s known as

(A) Marginal probability
(B) Conditional probability
(C) Joint probability

(D) Binomial probability

21. Sampling error means

(A) The difference between sample
statistics and population parameter

(B) The error occurred in selecting
samples

(C) The difference between two samples
(D) Type I error

?????????????????????
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BRTFOTTT, LTORF

[) womsedn Fegsos IRR 203 sNad3d
IT) woBmvs &, IRR 7 Zdmond
III) womenvss [u3gos IRR s@=03HNT

(A) 1 =% "0

(B) II &»3 =0

(C) o I, II =25 III 55

(D) 163 1T &»3 %0

24. 333 o (Berd) N FoTe oy DZoW
SOBNOT VLRORTRY, DF0TD FBOINITYT 2

(A) ASRTT> AT

(B) 8930 =5303 &3

(C) adatrzaso®

(D) esnomom moosondw)ed

25. BIROTATIAT WO ASNERE SHFF LoINY
cs’,ra:a;n’oom’a; NVTO3RCATID  WIHOWD
DeReFCLRTOT 58,08 STOTVODT LFREIRNSE).
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(A) LROTEDID DoBEFTD

(B) Fanrmoes® Dolesoes

(C) 20 00T DokesTes

(D) %ie BJR003T2A¢0D  DoREFTED

22. The cost of debt k, =1 (1 —T), in which
“T” 1s equal to
(A) Transaction cost
(B) Redemption rate of debt
(C) Discount rate on debt
(D) Corporate tax rate

23. If the net present value of the project is
equal to zero, then it follows that

) IRR is greater than the cost of capital
[T The cost of capital is equal to IRR

[II) IRR is less than the cost of capital
(A) Only I 1s correct

(B) Only II is correct
(C) All I, II and III are correct
(D) Only I and III are correct

24. Reducing salary grades into just few wide
levels 1s called as

(A) Egalitarianism
(B) Skill based pay
(C) Eliticism

(D) Broad banding

25. One of the most promising developments
in multivariable segmentation is called

, where a host of demographic
and socio economic factors are used.

(A) Terragraphic segmentation
(B) Fermagraphic segmentation

(C) Geothermy segmentation

(D) Geodemographic segmentation
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(A) TTFEAT &HI0AT T DRBITTO
(B) ¢, nuomdRymd (THosdmDd)

(C) 73IFx8 Bdh

(D) Rocdns 303

27. FINVI LBORSE TR R RCTOD cidaioad
DRWIRCD FIOFNY JDFDDN L2JOTRO

RNRERBLO B Wen Szgﬂﬁw AIPIC N mﬁéﬁ#ﬁg{
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(A) RR3F RER TR
(B) 2 T3

(C) RoBmocs> ToReneh
(D) New TR

28. 38 3 3ceied 0030
(A) RO Q0T wusmcdeenny Seef Soeied
(B) &sba@dosng svdnennon =ng Sotied
(C) 3,08 SBIEOD 0 ‘@éz.;;"ﬁod 30u3ed
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(A) ﬁJDE:FS
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26.

27.

28.

29.

Employees reporting to the public about
the mismanagement in companies 18
known as

(A) Public Interest litigation
(B) Whistle blowing
(C) Public complaint

(D) Affirmative action

Payments made the facilitate to expedite
the performance of routine governmental
action and are legally permitted are
known as

(A) Inspirational payments
(B) Black payments

(C) Custom payments

(D) Grease payments

Sensitivity training means
(A) Training on various issues of the
organisation

(B) Training to sensible

employees

only

(C) Training for increased awareness
of own behaviour

(D) Training with simulation

approach to industrial

relations states that conflicts between
employers and employees are inevitable

(A) Marxist

(B) Unitary

(C) Pluralistic

(D) None of the above
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30. If the past performance ratings are
NDFBEN BT FLLO wﬁmema’d e.-scfd:;

unjustifiably used to assess the current

20T 5‘503”@5 performance it is called as
(A) [T RFIF TTI S | (A) Perceptual set
(B) 0T TOTTIT (B) Spill over effect
(C) 3m3 Jomoxd (C) Leniency effect
(D) 3330233 =) : (D) Past effect
31. ooy eeh esTmOnEER esdesoen, e, erSeDd 31. In measuring national income the concept
w@ﬁ@g”cﬁggb m@d&ocj ﬁcs"od:mrb@m ? of value added is obtained by
(A) Rotms (298 BoES IPY) + JoSBFS (A) Value of input + conversion costs
BB (B) Value of output + intermediate costs
(B) emaﬂzj d}‘ae.% + 53033 DeDFRD (C) Value of output — intermediate costs
(C) #0330 B¢, - 030 ey (D) Value of input — intermediate costs

(D) 258 3pUE0 50, - DGO DWFRD | 35 Mo V=P x Q is the proposition of

32. Mx V=P x Q as> c3n30 S30a 9 (A) Quantum theory
(A) ®,08a° m@]og (B) e073 g,m-%og (B) Econoimlc theory
(C) Bosnes a2 (D) PpYE Acacs (C) Quantity theory
N o (D) Supply theory
33. 30mR8 SEOST [OIN 308 Cusrt
G0RNRENTBZT. 33. A narrower span of management leads to
(A) Besdedd i organisation structure.
S (A) Hierarchial
(B) aop0w

(B) Pyramid
(C) Matrix
(D) Mechanistic

(C) =g (F03)
D) SR (om039

34. 7 22630 2D, STILTWOFAID .
| : P lett-Pack
53,03 ey TR0, L M %) oz e 34 David Packard of Hewlett-Packard once

B, M. [P, | S, said, “Marketing li far too important to
’ S @ leave to :

(A) LTSI BTN

(B) &% a9n @@momsh

(C) =nooe3mdd aess

(A) The advertising boys
(B) Uninformed managers

(C) The marketing department
(D) & s (ma% maﬁr&ﬁr:ﬁm@a&) (D) The CEO
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35. When Tendulkar and Amithab Bachan

use marketing to promote their careers
and improve their impact and incomes,
they are using

(A) Cause-related marketing
(B) Idea marketing

(C) Nonprofit marketing
(D) Person marketing

36. 1s a strategy of using

a successful brand name to launch a new
or modified product in a new category.

(A) Duobranding
(B) Line extension

(C) Brand extension
(D) Multibranding

37. In the Hawthrone studies “Chiselers’™ are

(A) Employees who resist change

(B) Employees who enforce norms of
the group

(C) Employees who intentionally
reduce production below the norms

(D) Employees who take the group
secrets to the supervisor

38. The constant growth dividend discount
model of equity valuation assumes

[) Dividends grow at a constant rate

[I) The dividends growth rate continues
indefinitely

[II) The required rate of return is less
than the dividends growth rate

(A) Only I 1s correct

(B) Only III is correct
(C) I and II are correct

(D) AllL II and III are correct
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39. Reverse Robin Hood effects means

(A) Companies spending money for
reversing decisions in Cricket

(B) Corporate payments made to
foreigners for doing favour

(C) Companies providing money on
activities that are areas of interest to
affluent and not poor

(D) None of the above

40. OSHA stand for

(A) Organisation for Safety and Healthy
Attitude

(B) Occupational Safety and Health Act
(C) Organisational Safety and Health Act

(D) Occupational Safety and Hazads
Association

41. Collection of political intelligence to
induce politicians to do an art infavour of
one particular company or business 1s

(A) Labeling

(B) Political corruption
(C) Lobbying

(D) Political levelling

42. The two opposite leadership behaviours
found in managerial grid are

(A) Team and task
(B) Country club and middle of the road

(C) Impoverised and team

(D) Task and impoverised



http://www.studentbounty.com/
http://studentbounty.com/

43.

44,

45.

46.

“noods MITOS DBFRY) F,00037 ISFI=A

a)tfxaeaaab'aﬁ awoqs’ E»Jaoéa” aomda’o
NWORT VT aimdasm J0TH FEOI0IT ?

(A) ©=x0 (B) moxdne3d escioes
(C) =803 (D) eorignoathas

RO, L0 FEOTT MOOXT DR OFED ST
% zpbas’cs' STROTE_ VEoF CWRO w&oiacﬁosb
aﬁocﬁa 55030083 9

(A) R&s

(B) cr@Ecnwms 2o

(C) 3BeneDHore JOTod
(D) ZFew

dmr'én’%cﬁ DT 3N,

(A) woT0 NWTHOTY WITOL, a;a:"m'ao‘

50X 0300, ouom’m’c;d ST a’ocs’@a’
ﬁegﬁom a’ﬂa’a'ac’ ﬂ:o,-qodﬁo&m
m&i@%@m

20T HIWTIT o:? 35 OO, Fdﬁ: eaT3e
N sﬁ:d@§ SRR zﬁeimédm afdmd

nJOrdOiraO@ﬁ RINPBROR)TD

MoIA® a Atsple} o:?odoo LBEe 300
zﬁ&&oa’&sﬁojo@ dd@bwécﬁﬁ 23T ROTO
dﬁmd :a’oﬁcﬁmo&ﬁ ﬁra@imtﬁa @z:'b

WO a’a’mo w,-aojco ZIn]s ), 0
THIpleve a’rf:'-'a’@a’ ijO’JE)GCS'J =, a’a'ao’
HONC&@CC{J &D@iﬁ%’b d}d)

(B)

(©)

(D)

‘R0 mmw 23030300 BABORING =WO0WTON
n: Eﬁ)“ﬁ%‘j
gémcﬁé ‘?

(A) BABOT® WOBOPETOLD SNE
(B) BQBom'non soep® SRne
(C) BBownY SRNFD BTAS
(D) RO cnme @),

A3 e ATOTINT 7 QT 0INYTO

43. Phenomenon that explains ‘increase in the
size of the group is inversely related to
the individual performance’ is known as

(A) Dissonance
(B) Social loafing
(C) Synergy

(D) Cohesion

44. The process of judging people based on
the traits of the group to which they
belong is called

(A) Perception
(B) Stereotyping
(C) Halo effect
(D) Projection

45. Conglomerate merger is

(A) A firm established in one industry
combines with another firm in
unrelated industry

(B) A firm combines its strength with a
fast growing firm in the same
industry

(C) A firm combining with another firm
dealing in similar line of activity.

(D) A firm conbining with another firm
in the same business risk class

46. The market value of share is equal to the
present value of future streams of
dividends is the proposition of

(A) Dividend capitalization approach
(B) Walter approach to dividends

(C) Irrelevance of dividends approach
(D) None of the above
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47. Project feasibility analysis of small scale
industry does not include the following

(A) Social profitability analysis
(B) Market analysis

(C) Management analysis

(D) Technical analysis

48. Which of the following pronounced the

policy framework for small scale
industries ?

(A) TPR 1990
(B) TPR 1948
(C) IPR 1991
(D) IPR 1956

49. SIDO refers to

(A) Small Institutions Development

Organisation

(B) Small Industries Development
Option

(C) Sick Industrial Development
Organisation

(D) Small Industries Development
Organisation

50. The experiment conducted in Inida to
wistil achievement motivation by
Mc Clelland is popularly known as

(A) Allahabad experiment
(B) Kakinada experiment
(C) Bombay studies

(D) Delhi development experiment
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